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$0\left(4\cfrac {nm}{2°{16} }\log v\right)$[]

const int MAXN=1e6+5,MAXM=1<<16,Mod= ;
LL a[MAXN];
vector<LL> c MAXM | ;
uint64 t G(uint64 t x
X"=x<<13;

Xt =x>>7;

’
X~=x<<17;

X;

bool check(LL x
int cnt=0;
_for(i,o0,

x>>1)&
cnt++;

cnt<=3;
int main

int n=read int(),m=read int();
al0l=read LL();
_for(i,1,n)alil=G(ali- ;
_for(i,0,n

_for(j,0,
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clj ali]>>(16*j))&((1<< - .push _back(alil);

int ans=0;
m--
LL b=read LL();
bool flag=false;
_for(i,o0,
int t=(b>>(16%*1i))&((1<< -1);
_for(j,0,cli][t].size
check(clil[t][j!"b
flag=true;

’

flag

’

ans=(ans<<1|flag)%Mod;

enter(ans);
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2[]Sasha and Array
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const int MAXN=1e5+5,MAX size=2,MAXS=35,Mod=1e9+7;
struct Matrix
int r,c,ele/MAX size||[MAX size];
Matrix(int r=0,int c=
this->r=r,this->c=c;
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mem(ele,0);

Matrix operator + (const Matrix &b)const
Matrix C;
C.r=r,C.c=c;
_for(i,0,r) for(j,0,c
C.elel[il[jl=(ele[i]l[jl+b.elel[i][]j])%Mod;
C;

Matrix operator * (const Matrix &b)const
Matrix C;
C.r=r,C.c=b.c;
_for(i,0,C.r) for(j,0,C.c
C.elelil[]
_for(k,0,c
]

C.eleli
C;

bool operator != (const Matrix &b)const
_for(i,0,r) for(j,0,c ele[i][jl!'=b.eleli
true;
false;

A[MAXS],I,X1;
Matrix quick pow(int k
Matrix ans=I;
int pos=0;
k
k&1 )ans=ans*A|[pos|;
pos++;
k>>=1;

ans;

int alMAXN], lef MAXN<<2],rig /MAXN<<2];

Matrix s|/MAXN<<2|,lazy|MAXN<<2];

void push up(int k
s|kl=s|k<<ll+4s|k<<l|1];

void push tag(int k,Matrix lazy tag
sl kl=lazy tag*s| k];
lazy|k!=lazy tag*lazy|k];

void push down(int k
lazylk|!=I
push tag(k<<1l,lazy/k!l);
push tag(k<<1|1,lazy/k!l);
lazy k! =I;

=(C.eleli] [j]+1LL*ele[i] [k]*b.elelk
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void build(int k,int L,int R
lef|[kl=L,rig/ k=R, lazy k]|=I;
int M=L+R>>1;
L==R
s ki=quick pow(al[M|-1)*X1,void();
build(k<<1,L,M);
build(k<<1|1,M+1,R);
push up(k);

void update(int k,int L,int R,int v
L<=lef | k|&&rig/k|<=R
push tag(k,quick pow(v));
push _down (k) ;
int mid=lef|k|+rig/ k/>>1;
mid>=L
update(k<<l1,L,R,Vv);
mid<R
update(k<<1|1,L,R,v);
push up(k);

Matrix query(int k,int L,int R
L<=lef | k|&&rig/k|<=R
slkl;
push down (k) ;
int mid=lef|k|+rig/ k!>>1;
mid>=R
query (k<<1,L,R);
mid<L
query (k<<1]1,L,R);

query (k<<1,L,R)+query(k<<1|1,L,R);

int main
A =Matrix(2,2);I=Matrix(2,2);X1=Matrix(2,1);
A .ele =A .ele =A .ele =I.ele =I.ele =X1l.ele
=X1.ele =it
_for(i,1,MAXS

Alil=Ali-11*A[i-1];
int n=read _int(),m=read int
_rep(i,l,n)alil=read int();
build(1,1,n);
m__
int tp=read int(),l=read int(),r=read int();
tp==1)update(1,1,r,read int ;

’

enter(query(1,1,r).ele ;
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3[]Count The Rectangles

ug

gd

oo0obobooobobobDuooboboboo@WbobobDooboboobobooooboo)

gd

ool UUU G

0000 $y$s0O00O0OO0000O0OOO000ODOOO000DOOOO $x$oopoooOoooooogoooo
000 $x$00000

000000000000 0000000000000 $x$000000000000 $t$oooo
00 $\frac {t(t-1)}2%0

0000 $y$s0O0DO0O0000O0O0O00O0DO0O0Ooooooooooogn $o(n~2\og v)$0

const int Base=5e4+5,MAXV=Base<<1,MAXN= ;
#define lowbit(x) ((x)&(-x))

int c[MAXV];
void add(int pos,int v
pos<MAXV
clpos|+=v;

pos+=Llowbit (pos);

int query pre(int pos
int s=0;
pos
S+=c|pos|;
pos-=lowbit(pos);

S;

int query(int lef,int rig query pre(rig)-query pre(lef-1);
struct seg{int lef,rig,y;};
struct Node
int type, lef,rig,y;
bool operator < (const Node &b)const
yl=b.y y<b.y;

type<b.type;
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Node
Node(int type,seg s
this->type=type;
type==
lef=s.lef,rig=s.rig,y=s.y;

lef=rig=s.y,y=s.rig;

’
vector<seg> seg r,seg C;
vector<Node> node;
int main

int n=read int();
_for(i,0,n

int

x1l=read int

+Base,yl=read int()+Base,x2=read int

x1>x2)swap(x1,x2);
yl>y2)swap(yl,y2);
yl==y2

seg r.push back(seg{x1l,x2,yl});

seg c.push back(seg{yl,y2,x1});
LL ans=0;

_for(i,0,seqg r.size
node.clear();

+Base,y2=read int()+Base

int lef=seg r[il.lef,rig=seqg r[il.rig,y=seqg rlil.y;

_for(j,0,seqg r.size
seg_rijl.y>y

node.push back(Node(0O,seg r|j 5

_for(j,0,seqg c.size
lef>seg cljl.y||rig<seg cljl.y
seg cljl.lef>y||seqg clj!.rig<y
add(seg cljl.y,1);
node.push back(Node(1l,seg c/|] ;
sort(node.begin(),node.end ;
_for(j,0,node.size
nodelj|.type==

int
gl=min(max(node|j!.lef,lef),rig),qr=min(max(node/j

int t=query(ql,qr);

ans+=1LL*t*(t-1)/2;

add(node[j|.lef,-1);

.rig,lef),rig);
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enter(ans);

.
1

4[][Median Sum
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const int MAXN= ;
bitset<MAXN*MAXN> vis;
int main

int n=read int(),sum=0;

vis[0]=1;

_for(i,0,n
int a=read _int();
sum+=a;

vis|=(vis<<a);

int pos=(sum+1)/2;
lvis|pos|)pos++;
enter(pos);

1
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